MOLOTOW

1 (10) 6,000
FINE

900.077 9001 9002 9013 901 8

=Y o oiel B (E2/320)) T AJ|L M (S0|E/S) ST A7 H (S0|E/T20]) T AT H (S0IE/ZE) FH A7 (S2/53)
- 4= 0.5~1.5cm - ME: 0.5~2cm - 4= 0.5~2cm - AE: 1~2em CAE WNSCm
C &Y TYsi MiZet M c&Y gYein g2 M C &Y TYsl g M - &Y TYet M -4y Aget o
Qe =7 ol .ok xeted .ok Qe BT N = CorEd: Hromzhor
S Hg ATR| 2R, Sloj2tolE - Mgk 2R M2t 2o - A B : ”"* eaeiz UAg, 53 - Hgh Mt ﬁﬁd
- 31 ofHnQIOLE Hi=(SE) 2.
=50 95X =
o [ @
i
i
9022 9009 9026 9008
MH AIL M (RE/EH) ARA AZE M (S0IE/2R ADE 4 (S/28) ofRzfel Am4 Y (St0|E/EE)
- MZ: 2em M= 3em - MZ: 3om - MZ: 50m
-4 o Felsta Z2Eet & 7ot BeRiz o 44 PRl Reei2 - &Y TYsil BERR
S MY A2 XA U MY S MY
- =g B, 298 Mg 59 &2 3719| 2H Mg 39 &2 3719 B, 2 HAadlY Mg g, S2UA, s¢a7(e B
EY EE mepiyg 712 4 Z2ER of#neIotE (Eiﬂﬂﬂu
2 Hadie =g HE, olHE, SiFg) 7|2 2

WIDE

e @ @ (

—— —) 2 D

9007 9006 9005 9025 9021

AlLotol Z (St0|E/S3)  AMUBE W A (S0|E/UX]) +H W H (sH0|E/E3T) UL W A (A=R/=U H2ES M H (S/E3)
- ME: dem - ME: 5em - ME: 6om - ME: 1~10cm - ME: 1~10cm
L&Y ReEgdu 2 o CA&YREu SZ M &y wet CAY R E2 AR E2
U S0 Sy &~ S O 52 0 U 0 %S 24 Sy iR =2 1Yy
CHY e WA SEAZ ARY - Mg @2 U UlYEa - Hg de B A Ee EA - Hgh Ee vy
EYATU W W o= 2oy £7: 420| Hon{ B0 1 E71| CEYEA Y o= ey Ed: IIRIES w2 At - B HRIES W2 AL
ZAIS0] HIRIE 580| £5, OIAEZR Ui o2 dnfy
o O B0 BERE YUY
. 1
9004 9015 9003 9020
=3 X OIEJAE 1 2 (S/ARQ) =3 XIE OfE|AE 2 2 (Ml=/=2 ojo|Z A7|L| 24 (3}0|E) FHHAZ AF|L| 2 (S/510|E)
S 1~dem - ME 1~6em - 8= 0.5~1cm - A 1om
-4y REM &t - &Y REM &2 SAYIoE e SAYrge
.ok =7t ot . o2 =7t ot .ot 1ot .ot 19t
CHE B E‘H A2 Hady A E@e EA - Hg E%ﬁﬂh =Ab - Hgh 2EAZ AR
B HEY EE 2Y (B AR B Y -5 2920 BTl 1), - 53 50| e 2e|x] 4,
BA 2 2H IS BA2Y = IS ZEoi 7t M ot ATHOIR) W o2 Ly



MOLOTOW

DEEQ LEY skl H|

O \y

& :

|- (<]

e
»

IHOJZE AF|L|
—

HH AT OF22pe1 Am

=

08 I
0ok rx

=

S H|E OfE|AE 2

(=] o
g2 M | F2 M

=3, g, BAl W2 By, 3

. @ P o

DEED 0 A7

Prm U/ A2 U




